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Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 42

Number of Questions to be attempted : 42

Section Marks : 100

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 5521311236
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 55213114058 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s/are not true about teaching?

Options :
Analysis and Assessment of Teaching Provide Feedback for Further Improvement m
Teaching Method.
2758 w0 0l DFke S09Y g BEBY DrHBESTR8 Ageca T ety
55213155201.
It Involves Communication Skill.
S S8560 BYres A0
55213155202.

It 1s a Process Not an Act.
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-

55213155203.



It is the only means to provide knowledge.

DATDH HOPTY) LoSEIDTIS HBS FEIo
55213155204.

Question Number : 2 Question Id : 55213114059 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

According to modern concept of teaching learning process the position of a teacher m the class-
T00M IS
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Options:

A chairperson

.8 efHAe
55213155205.

The Umpire

Tl APBI Q0pdre
55213155206.

One of the member of the group

JBrirod® ws0m
55213155207.

The director of the group

RDeFERS8 B Ham
55213155208.

Question Number : 3 Question Id : 55213114060 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is correct with regard to relationship between syllabus and
curriculum?

DD (o8 0o o7 (Gerde iy Jomoged) FPDod B3 ($8aRGN
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Options :

Syllabus 1s a part of curriculum.

DRAD (SHeS Doy (Bee@5E® gerio
552131552009.

Curriculum is a part of Syllabus

DT [Berds DRAD He358° gerio
55213155210.

Syllabus 1s an annexure to curriculum.

DR (FHesrds Doy (Der@SH edhoogo

55213155211.

Curriculum is an annexure to Syllabus

D (Dez@S DAAD (DS edhnogo
55213155212.

Question Number : 4 Question Id : 55213114061 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Which of the following skills are not a must for present day teacher to adjust effectively with the
classtoom teaching?
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Options :

Knowledge of technology
ok
55213155213.
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Use of technology in teaching learning

PETgrIIE° FOSBIE DATITo
55213155214.

Knowledge of students' technology based needs
AlnpyeriIisViEsleletlelaTela Ty FoSEH3E urrld uddoe HBoRKo
= =
55213155215.

Mastery of preparing technology based programs

FOS8S uprod Y Eire Sairts’ s
55213155216.

Question Number : 5 Question Id : 55213114062 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The students who keep on asking questions in the class should be:
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Options :
encouraged to find answer independently

Sradore Sarrrares 5055508 (@88 20D
55213155217. © b 2



advised to meet the teacher after the class

SBHS Bo78 &arpRdind) Sodaed
55213155218.

encouraged to continue questioning

BEodSeeR) @PSEromd
55213155219.

advised not to disturb during the lecture
&dHTN0 e’ vwoso SDOITER Kool
55213155220.
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Question Number : 6 Question Id : 55213114063 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The depth of any research can be judged by:

e.8 HOES S*d &R Troe ATBoSS)
]

Options :
title of the research.
OGS 403
55213155221.
objectives of the research.
HOSES O
55213155222.

total expenditure on the research.
5838
55213155223.
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duration of the research.

D05 oSt
55213155224. =
Sub-Section Number : 2
Sub-Section Id : 5521311237
Question Shuffling Allowed : Yes

Question Number : 7 Question Id : 55213114064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Method of Research?

8o TS DO BOFES BES

Options :
Observation
HOBOS
55213155225.
Historical
FO(EE)s
55213155226. =
Survey
S
55213155227.
Philosophical
il s

55213155228.



Question Number : 8 Question Id : 55213114065 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Action research is

e st et :
wD“;E'_-JUE JOTHN oIrE
A=

Options :

55213155229.

55213155230.

55213155231.

55213155232.

An applied research
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A research carried out to solve immediate problems
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A longitudinal research
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Sunulative research
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Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :
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5521311238

Yes

Question Number : 9 Question Id : 55213114066 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Generalised conclusion on the basis of a sample 1s technically known as:

& i @ e b gy~ ey A Y -
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Options :

Data analysis and interpretation

e
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55213155233.
Parameter nference
%’ée‘.’%@*ﬂéﬁ&. a0
55213155234,
Statistical treatment
~rogys BB o8I0
55213155235. '
Subjective imterpretation
BT FAD TLER0
55213155236.

Question Number : 10 Question Id : 55213114067 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

When a research problem is related to heterogeneous population. the most suitable sampling
method is:
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Options :
Cluster Sampling
Rarse [B&Sabso

55213155237.



Stratified Sampling

RS (D&Schio
O &

55213155238.

Convenient Sampling

wiEred H8Iabso
55213155239.

Lottery Method
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55213155240.
Sub-Section Number : 4
Sub-Section Id : 5521311239
Question Shuffling Allowed : No

Question Id : 55213114068 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (11 to 15)

Question Label : Comprehension



Read the passage and answers the questions from 11 to 15:

George Stephenson and his son Robert Stephenson made a tremendous contribution to the
development of railways. George did not mvent the steam locomotive. but he ensured that the
nsights and discoveries. which were beginning fo come together from a variety of sources. were
engineered into a practical machine. In this context. a man of relatively humble origins became one
of the world’s greatest engineers. He was brilliantly pragmatic m ensuring that his son. Robert. was
given all encouragement i assisting the engineering of the early railways.

The passage of time has done nothmng to pale the remarkable achievements of the two Stephensons
(for it is unwise to separate father and son). Their mventive genius was most brilliantly displayed.
probably, during the year 1829-30, but this was surely not the end. They stamped their final mark
on the shape of the locomotive when m 1833 they added a pair of carrying wheels behind the
firebox to produce the first 2-2-2 engine ‘Patentee’. This became a benchmark passenger type in
both France and Great Britain and was built in the Great Britain until 1894. Their final major
contribution was in 1842 when they were the first to provide engines with a link motion valve gear.
This was a fascinating invention, which was so extremely suitable for locomotives that it was still
being used for new construction m the last phase of the great days of steam.
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Sub questions

Question Number : 11 Question Id : 55213114069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes



Correct Marks : 2 Wrong Marks : 0
Both George and Robert Stephenson’s contribution to Railways was
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Options :

Immense

Waﬁ =F~.u;%l....
55213155241.

Sparse

SLEamr
55213155242.

Outlandish

SANSDR0

55213155243.

Impractical

©I8@ETo R0
55213155244.

Question Number : 12 Question Id : 55213114070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes

Correct Marks : 2 Wrong Marks : 0

George in his younger days was a man of

Options :
Wealth

NEVel VA
55213155245.



Hard work only

55213155246. B

Poverty

Fnielcle)
55213155247.

Lowly background

BED Arow VG0 SoTd
55213155248. B

Question Number : 13 Question Id : 55213114071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

George was brilliantly

=5 ‘&uﬁ;:;w% He
Options :
Idealistic
55213155249. S
Foolish

55213155250.



Practical

e300
55213155251.

Selfish

f%vmtﬁa’atﬁacﬁa
55213155252,

Question Number : 14 Question Id : 55213114072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The first 2-2-2 engine ‘Patentee’ became a/ an passenger type in both France and
Great Britam
), 065 Qeofod® 2mtié 2-2-2 abogo DB Pordde B 85055 DoaRe.
Options :
Standard
(ST @R
55213155253.
Enviable
OraD DAY
55213155254.
Routine
SRBTBS
55213155255.

55213155256.



Mundane

Question Number : 15 Question Id : 55213114073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
Yes
Correct Marks : 2 Wrong Marks : 0

In 1842. they were the first to provide engines with a link motion valve gear whichwasa

mvention.
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Options:
Multipurpose
Def ([BEreis=l
55213155257.
Utilitarian
Su@rriso
55213155258.
Multilevel
sapenel ot oy
552131552509. =
Mesmerizing
RdolgemE 5o 87 YoXa)
55213155260.

Sub-Section Number : 5



Sub-Section Id : 5521311240

Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 55213114074 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The speaker and the listener carry with them certain ideologies, world-views. beliefs. likes and

dishikes whichformthe
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Options :
Style
39
55213155261.
Aptitude
Neea s &o
55213155262.
Attitudes
55213155263, =900
Views
:e/ \TIPEN
55213155264.

Question Number : 17 Question Id : 55213114075 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
The speaker has to possess adequale of the message that 1s to be transmitted.

5 &R SRl ) \“ 5 Hoow Romofod) #hdod 300 soldennl

Options :

Replies

55213155265.

55213155266.

Reactions

58 ﬁﬁﬁu,
55213155267.

Knowledge
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Question Number : 18 Question Id : 55213114076 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Fluency. clarity and intelligibility of pave the way to effective communication.
598 3020009 ©F NEEE, )38, SEBhen [HepSNosRa gre (HR8eD POEIROD.
Options :
Command
TROD

55213155269.



Channel

Td
55213155270.

Path

o
55213155271.

Expression

w856
55213155272.

Question Number : 19 Question Id : 55213114077 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The effective use of consists in selecting appropriate words and patterns of sentences

while comnmnicating,
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Options:
Language
FR
55213155273.
Crrcumstance
Do
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Idioms

néseto
55213155275.

Connectives

NOTRCTRED
55213155276.

Question Number : 20 Question Id : 55213114078 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Communication 1s sustained and it becomes effective onlyina/an _ ambience.
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Options :
Intellectual

L858
55213155277. »

Indrvidual

S
S
55213155278.

Clean

DS
55213155279.

Complex
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55213155280.



Sub-Section Number : 6
Sub-Section Id : 5521311241

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 55213114079 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

A car covers a certam distance with speed 60 kmph and returns to the starting point

with a speed of 40 kmph. The average speed (in kmph) for the whole journey is
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Options :

50
55213155281.
55213155282. e

100
55213155283.

52
55213155284.

Question Number : 22 Question Id : 55213114080 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



In a certan population, the ratio of number of women to the number of men1s 6 ; 5. If
the average age of the women is 34 years and the average age of the men 15 32 years.
then the average age of the population ( in years) 1s

28 D0 Z2TFS DT D093 HDDO B3 6 1 5. DO HKE SoHD 34
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Options :

321
55213155285.

33
55213155286.

331
55213155287.

335
55213155288.

Question Number : 23 Question Id : 55213114081 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘A’ loses 10% by selling an article. If the cost of the article 1s Rs. 15, then the selling

price of the article 1s (in Rs.)
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13.20

55213155289.

16.50
55213155290.

12.30
55213155291.

13.50
55213155292.

Question Number : 24 Question Id : 55213114082 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Tap ‘A’ will fill a tank in 30 minutes, Tap ‘B” will empty the tank in 3 hours and tap

*C" will empty the tank 1n 4 hours. If all the taps are open at the same time. then time

required to fill the tank 1s ( in minutes)
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Options :

17/ 720
55213155293.

Pt S B
55213155294.
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390/ 17
55213155296.

Question Number : 25 Question Id : 55213114083 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence: 6. 27. 128, . 3130
D (E0eS SoDS Hows: 6. 27,128, L 3130
Options:
529
55213155297.
629
55213155298.
729
55213155299.
829
55213155300.

Question Number : 26 Question Id : 55213114084 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

‘PROFESSOR’ 1s coded as ‘KILUVHHLI'. then *‘STUDENT" is coded as
‘PROFESSOR’, ‘KILUVHHLI" 7T §G S ah2308. @y ‘STUDENT’ Gwé), &6



Options :

HGEUVNG
55213155301.

HGEUWNG
55213155302.

HGEFWVMG
55213155303.

HGEWVNG
55213155304.

Question Number : 27 Question Id : 55213114085 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

‘ROCKET" 15 coded as ‘913564"and ‘LITTLE’ coded as ‘024406’ then the code for
"‘CRICKET' 1

'ROCKET', 913564° T §& Dohadod SHdokw 'LITTLE, 024406 I §& Tohadod.
900~ 'CRICKET' 3308), §6

Options :

3943654
55213155305.

39324064
55213155306.

3923564
55213155307.

3923654

55213155308.



Question Number : 28 Question Id : 55213114086 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Pomnting to a person. A said, “He 1s the only brother of my father’s mother’s

daughter”, The relation of the person to A 15

28 588 HoDE, A o), "w Sof O 50570 BE) ~38 FODH". wond @
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Options:
Brother
PCHENCD
552131553009.
Father
0|86
55213155310.
Uncle
232301 / 9%
55213155311.
Nephew
HSeRts / SeandS 0 HIPHE
55213155312.

Question Number : 29 Question Id : 55213114087 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

The odd one among the following 1s
808 S D&Y, 28 HOFOIS
Options :

Baseball

ﬁﬁf" iy &
55213155313. .

Boxing

2r8y0h
55213155314,

Chess
5580080
55213155315.

Wrestling
d2oh
55213155316.

Question Number : 30 Question Id : 55213114088 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

[

In a cerfain code, “+" mean ‘x’, ‘x’ mean ‘-, ‘~* means /" and /" means ‘+'.
Using these code operators, 16-2+4/16-8x 213

28 A0 ﬁ’r’(ﬁ, '+ 0B 'x'; 'x'®@O® - - @o® '/'; Hbcw
@B "+'. & §6 O &IBP0Y), 16-2+4/16-8x2 WO

Options :

15
55213155317.

55213155318.



2

55213155319.

32
55213155320.
Sub-Section Number : 7
Sub-Section Id : 5521311242
Question Shuffling Allowed : No

Question Id : 55213114089 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : 0 Minimum Instruction Time : 0 Allowed Progression :
Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to replay(In
Seconds) : 0 Allow Volume Control : Yes

Question Numbers : (31 to 35)

Question Label : Comprehension



Note: The questions Q. 31 to Q. 35 are based on the following information.

A0S (239700 Q. 31 0B Q 3558 , 308 NrTdo SErdOT G oN.

w

The population, literacy rate, No. of women for 1000 men and percentage of rural
populations of five states are presented m the following table.
D& T 2, ofThd 06, 1000 50O HHO%H DrFe o HOH

3y o
Faom ziwer 760, & 8od S 50800,

States | Population | Literacy | No.of women | % ofrural
Tlfe) | (zaver) | Rate per 1000 men | Population
(Lakhs) | (@8 | (Darde doms | (e 7o

@&o) 6@3] 1000 )000) ATVRAR

A 1500 70% 970 45%

B 2500 61% 951 62%

€ 600 85% 1021 51%

D 400 90% 992 39%

E 850 80% 989 42%

Sub questions

Question Number : 31 Question Id : 55213114090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0
Which state has the highest number of illiterate people?
AOSTrAnLe @S QOWMED ) T°ladO

Options :
55213155321.



State A
O° 0 A

State B

0220 B
55213155322,

State C

W,

070 C
55213155323,

State D
7|0 D
55213155324,

Question Number : 32 Question Id : 55213114091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0

The total Urban population is
HNEBO HEIED BT

Options :

3044
55213155325.

2806
55213155326.

1725

55213155327.



4125
55213155328.

Question Number : 33 Question Id : 55213114092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0

The number of women population in the state A is ( rounded to integer)

5,

I Wy '-\'6 .- W £ e |
‘A TR0 YO By DODE (SF°Q Do)

Options:

739
55213155329.

761
55213155330.

970
55213155331.

1455
55213155332.

Question Number : 34 Question Id : 55213114093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes

Correct Marks : 2 Wrong Marks : 0



The total percentage (nearly) of rural population 1s
B0 |JEd 2y 7o (SHST)

Options :

41
55213155333.

45
55213155334.

52
55213155335.

50
55213155336.

Question Number : 35 Question Id : 55213114094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

Yes
Correct Marks : 2 Wrong Marks : 0
On the overall. percentage of literacy rate (nearly) is

B3NS0 N, L Te0s Bew Fho (SHST)

Options :

521
55213155337.

65.3
55213155338.

55213155339.



70.5

55213155340.

Sub-Section Number : 8
Sub-Section Id : 5521311243
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 55213114095 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of'the following is a low level language 9

& (808 &6° 0 Low Level oy ?
C

Options:

Assembly

{-.—aﬁo;;
55213155341.

Java

e
55213155342.

ADA

=0 =

Gt i QL
55213155343.

e

o,

25

55213155344.



Question Number : 37 Question Id : 55213114096 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Number of bytes in 1 GB 1s

1 GB &°2 bytes © Jogy,......

Options :

1024TB

1024 &o= Téw
55213155345.

1024 B

1024 Bep
55213155346. -

1024 MB

1024 Jorr 2én
55213155347.

1024 KB

1024 36° Bey
55213155348.

Question Number : 38 Question Id : 55213114097 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The full form of MODEM 1s
MODEM D_'JJJE; 6'3%__“51:::

Options :
Modulator and demodulator
Sl Hbukn BSrEBed
55213155349,
Modem mobile
(Tavr]e] E@Qﬁ
55213155350.
Modulator embedded
SrErBed NoB&E
55213155351, =
Moderator demoderator
8008 &SrEDes
55213155352.

Question Number : 39 Question Id : 55213114098 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

.......... are set of rules and procedures to control the data transmission over the internet

2005386 Gir (HFodd T8 Adhdres S0 HEHe Sen....
Options:

IP address

IP &%arad
55213155353.



Domains

DT G@sn)
55213155354,

Protocol

Feo=at
55213155355.

Gateway
55213155356.

Question Number : 40 Question Id : 55213114099 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

NMEICT stands for

NMEICT esre

Options :
Nation Mission for Education through ICT

- - - - 1
JNS XS PO AByEAD (B 02D

55213155357.
Nation Mission for E-commerce through ICT
JHT DT P8 vzl (@ oS
55213155358. ¥

Nation Mission for E-governance through ICT
AT RS H8 a-rSYN)y (E 0
552131553509. =



Nation Mission for Entertainment through ICT
JET AT $8 2068850t (e 28

55213155360.

Sub-Section Number : 9
Sub-Section Id : 5521311244
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 55213114100 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which agreement set in target of 5% reduction in carbon emissions against 1990 levels?

58)3 smood 1990 &ow So 8 5 wo dNowred eyl Mgawods e.djoto 207

Options :
Paris agreement
arCR e.dfjotio
55213155361.
Stockholm Agreement
5 Trro adolio
55213155362. = g
Kyoto Protocol
5%e3® PSS
o
55213155363.

Berlin Agreement

DO a.D0ko
55213155364. i

on



Question Number : 42 Question Id : 55213114101 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The maim gas responsible for ‘climate change’ 1s

Options :

NDJ
55213155365.

CO;

sHhe & &6

= ey

55213155366.

CcO

sE)m PR
55213155367.

NOJ

2B
55213155368.

Question Number : 43 Question Id : 55213114102 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Eutrophication of fresh water lakes occur due to

$00DE e CrErHERS AATON athrh
Options :
Addition of excessive organic matter. phosphates. Nitrates
o0 Herdo PR, DS JENSM TsLo
=@ Oy T —— (L
55213155369. L
Addition of only Phosphates
PR SRED Jseo
55213155370.
Addition of rain water
583 A BBeo SO
55213155371.
Drying up of lakes
RDB0en QoberHeo
55213155372.

Question Number : 44 Question Id : 55213114103 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is not a cause of soil pollution?

3 (808 EE° Jo renardd DO 8o S°?

Options:
Pesticides

[orn soothen
55213155373.



Fertilizers

B0a)ED
55213155374,

Excess salts

@05 eoren
55213155375.

Compost

S’DEB‘ET’-%:
55213155376.

Question Number : 45 Question Id : 55213114104 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The concentration of CO, in the atmosphere is kept in balance through

FES808® CO,MEEn Jseomr ¢oid
Options :

~0O, fixation i photosynthesis

C
88coa2y HodmiS (Sae® CO, P
55213155377. ]

CO, release 1n respiration

TR8avs® CO,Dtbte
55213155378.

(2]

Carbon cycle

55 S50
55213155379. =



Degradation of organic matter

Eolellaless sa‘mﬂg QPR

e

55213155380.

Sub-Section Number : 10
Sub-Section Id : 5521311245
Question Shuffling Allowed : Yes

Question Number : 46 Question Id : 55213114105 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT an mtegral part of formal education system of our country

HITEER Fodmrad A Jue; 3 —o@” wodmyio R

Options:
Elementary Education
QOoert DS
55213155381. =
Primary Education
[@rE0E D
55213155382.
Pre-Primary Education
PO (PGS
55213155383.

Higher Education

-ru M) \:qu“
55213155384.



Question Number : 47 Question Id : 55213114106 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Approach towards Higher Education should be

Options :

Employment oriented

& vrrldo
55213155385.

Imparting knowledge

DRI B D0z woliodto
55213155386.

Charity oriented

o @Eﬂ;c‘;ﬁo
55213155387.

Investment in human resources

IPRD SdBedt enad
55213155388.

Question Number : 48 Question Id : 55213114107 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The mamn aim of vocationalisation of education is:

S8 N (AeS AR
‘“&:E% Q.-'Dﬁa kE‘JI.?I o é‘EUEJD

Options :

Preparing students for a vocation mstead of knowledge

DLXAH BOPRO DHed WD HEES® Jodhed Tabio
552131553809. ' '

Converting liberal education into vocational education

a8 DD 5‘3@@ D eGS0
55213155390. -

Giving more importance to vocational than general education

RS QST @ DD 250D (EPTERrSER BErto

o = T ) 5 < G

55213155391.

Making liberal education skill based and field experience based

&IPS AL Jyeese iy g urld Y™ Erfovvilevimlovsiate)
55213155392.

Question Number : 49 Question Id : 55213114108 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The purpose of value education is best served by focusing on

Dendie A oFo LD YR Solsbosto oo JBTWeEol
] ) bl [ =¥

Options :
Cultural practices prevailing in the society.
Qaraod® &F) Arok) 85 emrrred ardodto
55213155393.

55213155394.



Norms of conduct laid down by a social group.
2.8 el H%o E-':-E:I 2088 Adhadren ardodto

Concern for human values.

2wt

S Dende D& wolPER

55213155395.

Religious and moral practices and instructions.

SDENBIN DA FSS5DER eororen 0O JVredden
55213155396.

Question Number : 50 Question Id : 55213114109 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Indian Parliament can legislate on matters listed m the State list;

68 RG0S5 TEpdE o0 eore SQIE° Ko o ©0¥oR ApHd o TSR,
Options:

With the prior pernn'ssi-:-u t:-f the President.

TP(5308 Swoliy) ©9dnnss”
55213155397.

Only after the constitution is amended suitably.

NS DSorre orerroll B98I Sond SRS
55213155398. = -

In case of inconsistency among State legislafures.

m@a: Sepe S edoagds e9HW
55213155399. )

55213155400.



At the request of two or more States.

Both Tor wodST) QXN TEre Dgsy W

L= =0

GEOGRAPHY
Group Number : 2
Group Id : 552131186
Group Maximum Duration : 120
Group Minimum Duration: 120
Show Attended Group?: No
Edit Attended Group?: No
Break time: 0
Group Marks : 200
Is this Group for Examiner?: No
Examiner permission : Cant View
Show Progress Bar?: No
GEOGRAPHY
Section Id : 552131186
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 200
Enable Mark as Answered Mark for Review and Ves

Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 5521311246
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 55213114110 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The original name of the ancient continent proposed by Alfred Wegener
Options :

55213155401, Pangaea

55213155402, Urkontinent

55213155403, Gondwanaland

55213155404, Laurasia

Question Number : 52 Question Id : 55213114111 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List T and List I Select the correct answer from the codes given below

ListI ListII
Geomorphic features Formed due to
I.  San Andreas Fault a. Continent to continent convergence boundaries
2. Mid Oceanic Ridges ~ b. Divergence of two plates apart from each other
3. Aleutian Islands ¢. Sliding of two lithospheric plates
4, Himalayas d. Ocean - to- ocean subduction
Codes:
Options:

55213155405, 1-¢. 2-b. 3-d. 4-a

55213155406, 1-0- 2-¢. 3-a. 4-d

55213155407, 1-d. 2-a. 3-c. 4-b

55213155408, 1-a. 2-d. 3-b. 4-c

Question Number : 53 Question Id : 55213114112 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Find out the exogenic geomorphic processes from the following options. Select the correct
answer from the codes given below.

1. Diastrophism
1. Volcanism

i11. Weathering
1v, Mass wasting

Codes:

Options :



55213155409, 1 and 1i are correct

55213155410, 11 and 111 are correct

55213155411, 111 and 1v are correct

55213155412, 11 and 1v are correct

Question Number : 54 Question Id : 55213114113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The physical weathering associated with intrusive bedrock 1s

Options :

55213155413, SAlf wedging

55213155414, [1OSt wedging

55213155415, Exfoliation

55213155416, Expansion and contraction

Question Number : 55 Question Id : 55213114114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Match List I and List IT. Select the correct answer from the codes given below

ListI

Stages of Davis Geomorphic cycle

Initial stage
Youthful stage

L R e R

Mature Stage
4. Old age
Codes:

Options :

i R Bh
55213155417, 1°¢» 2-D. 3-d. 4-a

55213155418, 1-D. 2-¢. 3-a. 4-d
1-d. 2-a. 3-c. 4-b

55213155419.

55213155420, 1-¢- 2-a. 3-d. 4-b

Question Number : 56 Question Id : 55213114115 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

=2

=3

. o

List I

Associated features

Potholes
Monadnocks
Landmass uplift
Rectilinear valleys

Which of the following causative statements are responsible for the Static rejuvenation.
Find out the correct answer from the codes given below

1. Rusing and lowering of sea levels

1. Increase i runoff due to mncreased rainfall

il Increase in stream volume due to river capture

iv. Decrease in sediment load.
Codes:

Options:

55213155421 1. 11 and 1v are correct



55213155422, 11 and 1v are correct

55213155423, 1i. 111 and 1v are correct

55213155424. 1 and 111 are correct

Question Number : 57 Question Id : 55213114116 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List I and List IL Select the correct answer from the codes given below
List I List II

1. AufsteigendeEntwickelung a. Wanning
2. AbsteigendeEntwickelung b. Wash slope
3. Boschungen ¢. Waxing
4. Haldenhang d. Gravity slope
Codes:
Options :

55213155425, 1-¢- 2- . 3-d. 4-b

= 7 pRre i g
55213155426, 170+ 2°¢. 3-a. 4-d

55213155427, 1-d. 2-a. 3-c. 4-b

55213155428, 1-8- 2-b. 3-d. 4-c

Question Number : 58 Question Id : 55213114117 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

How do any material moves when P-waves pass through 1t?
Options :

55213155429, UP and down at the right angles to the direction of propagation

55213155430, Horizontally and at right angles to the direction of wave propagation

55213155431 1hose waves not able to pass through any material

5521315543, L0 and fro in the direction of wave propagation

Question Number : 59 Question Id : 55213114118 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Where is the focus of earthquake occur with respect to the epicenter?
Options :
55213155433, Parallel to the P-wave shadow zone

55213155434, Directly above the epicenter

55213155435, Directly below the epicenter

55213155436, Parallel to the S-wave shadow zone

Question Number : 60 Question Id : 55213114119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Tsunamis are not a threat in deep waters.
Reason(R) : Tsunamis in deep waters are very broad with large wavelengths and the
height 1s only less than a meter

Options :
55213155437, Both (A) and (R) are correct. and (R) is the correct explanation to (A)

55213155438, Both (A) and (R) are correct. but (R) is not correct explanation to (A)

55213155439, Both (A) and (R) are wrong

55213155440, (&) 1s correct and (R) 1s wrong

Question Number : 61 Question Id : 55213114120 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Water vapor 1s mostly absent in the upper atmosphere.
Reason (R): Absence of strong mixing and turbulent conditions to carry water to
higher latitudes.

Options :

55213155441 Both(A) and (R) are correct. and (R) is the correct explanation to (A)

55213155442 Both(A) and (R) are correct. but (R) is not correct explanation to (A)

55213155443, BOth(A) and (R) are wrong

55213155444, (&) 1s correct and (R) is wrong



Question Number : 62 Question Id : 55213114121 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Maximum insolation is received at the latitudes of
Options :

55213155445, U (Equator)

55213155446, 20 — 407 N&S latitudes

55213155447, 00 — 70 ° N & S latitudes

55213155448, 70— 80 N & S latitudes

Question Number : 63 Question Id : 55213114122 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

The present level of carbon dioxide in the atmosphere in parts per million
Options :

55213155449, 560

55213155450, 313

55213155451, 409



55213155452, 270

Question Number : 64 Question Id : 55213114123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Mie scattering produces

Options :
55213155453. Bllillﬂﬂt blue Skleq

55213155454, W lite skies
55213155455, Crimson colour skies

55213155456, L1ght greenish skies

Question Number : 65 Question Id : 55213114124 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List I and List IT and select the correct answer from the codes given below

List I List IT
Gases m the Heterosphere Exfent in Km
1. Atomic Oxygen a. Beyond 3500
2. Molecular Nitrogen b. 1100 - 3500
3. Atomic Hydrogen c. 90-200
4. Helium d. 200-1100

Codes:



Options :

55213155457, 1-a. 2-b. 3-c. 4-d

55213155458, 1-¢. 2-d. 3-b. 4-a

e o % A
55213155459, 1-d- 2-¢. 3-a. 4-D

55213155460, 1-b. 2-a. 3-d. 4-c

Question Number : 66 Question Id : 55213114125 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Find out the correct statements from the following. Select the correct answer from the
codes given below

1. Ifthe pressure gradient is steep. velocity of winds will be high
ii. Based on Coriolisforce, moving objects deflect right m the Northern Hemisphere and
left m the Southern Hemisphere
ii.  Frictional force has a tendency to speed up the movement of wind and modifies its
direction.
1v. When Pressure Gradient and Frictional Force are at balance. the resultant winds known

as geostrophic
Codes:

Options :
55213155461, 1 and 11 are correct

55213155462, 11 and 111 are correct

55213155463 111 and 1v are correct



55213155464, 1 a0 1V are correct

Question Number : 67 Question Id : 55213114126 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The local winds which are known as ‘snow eaters’

Options :

55213155465, Mistral

55213155466, C (100K

55213155467, SL0CCO

Bora
55213155468.

Question Number : 68 Question Id : 55213114127 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Decrease of atmospheric pressure with elevation i the first few meters for every 10 m

above sea level is

Options :

:‘I
55213155469, 05 WP

55213155470, 10 Wb



55213155471, 1 WP

8.5mb
55213155472.

Question Number : 69 Question Id : 55213114128 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Tropical cyclones do not form within the 5 — 8° N&S latifudes of
the equator
Reason (R) : Strong Coriolis force does not allow the formation of tropical
cyclones within 5 — 8° N &S latitudes of the equator.
Codes:

Options :

55213155473, Both(A) and (R) are correct, and (R) is the correct explanation to (A)

55213155474, Both(A) and (R) are correct. but (R) is not correct explanation to (A)

55213155475, oth(A) and (R) are wrong

55213155476, (A) 1s correct and (R) 1s wrong

Question Number : 70 Question Id : 55213114129 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



The ocean basin which 1s considered as inactive in the world in terms of formation of
tropical Cyclones
Options :

North Indian Ocean basin
55213155477.

North Atlantic basin
55213155478.

55213155479, Northwestern Pacific basin

Northeast Pacific basin
55213155480.

Question Number : 71 Question Id : 55213114130 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Collapse of which volcano caused deadly Tsunami in Indonesia during 2018
Options:

55213155481, Mi-Bafur

55213155482, Mt. Anak Krakatau

Mount Merapi
55213155483.

Mt. Agung
55213155484.

Question Number : 72 Question Id : 55213114131 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Match List I and List IT and select the correct answer from the codes given below

List I List I
Ocean Current Location
1. Agulhas current a. North Pacific ocean
2. Irminger current b.  South Pacific ocean
3. Oyashio current ¢.  North Atlantic ocean
4. Humboldt current d. South Indian Ocean
Codes:
Options :
23 9b. 3¢ 4=
55213155485, 18- 270- 3-¢. 4-d
04 3% A=
55213155486, 1°C-2d- 3-. 4-a
sel D sy W
55213155487, 10 276 3-a. 4-b

55213155488, =D 2-a. 3-d. 4-c

Question Number : 73 Question Id : 55213114132 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A) : Polar Waters are lack of thermocline
Reason (R): Temperatures are not stratified i Polar waters as they receive little solar energy

Options :

Both(A) and (R) are correct. and (R) 1s the correct explanation to (A)
552131554809. ’



Both(A) and (R) are correct, but (R) is not correct explanation to (A)
55213155490.

Both(A) and (R) are wrong
55213155491. ’ -

(A) 1s correct and (R) 1s wrong
55213155492. =

Question Number : 74 Question Id : 55213114133 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The largest continental shelf 1s located in

Options:

55213155493, Atlantic Ocean

55213155494 Indian Ocean

55213155495, Facific Ocean

Arctic Ocean
55213155496.

Question Number : 75 Question Id : 55213114134 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Steepest marine trench in the world

Options :

55213155497, Mariana Trench

Puerto Rico Trench
55213155498.

Tongza Trench
55213155499, =

Romanche Trench
55213155500.

Question Number : 76 Question Id : 55213114135 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match List I and List IT and select the correct answer from the codes given below

List I List IT
Living organisms Category
1.  Grasshoppers a. Decomposers
2. Bacteria b. Secondary consumers
3. Lizards ¢. Tertiary consumers
4. Vultures d. Primary consumers
Codes:
Options:
P T
55213155501, 173 2-D, 3-c, 4-d
-c. 2-d. 3-b. 4-;
55213155502, 176 2°d; 3-b, 4-2

1-d. 2-a. 3-b. 4-c
55213155503.



55213155504, 1-D- 2-a. 3-d. 4-c

Question Number : 77 Question Id : 55213114136 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect regarding the ecologic pyramid
Options:

The pyramid of biomass 1s inverted in aquatic ecosystem
55213155505.

The pyramid of energy is inverted in ocean ecosystem
55213155506. 2

55213155507, The pyramid numbers are upright in grassland ecosystem

The pyramid of biomass 1s upright in grassland economy
55213155508.

Question Number : 78 Question Id : 55213114137 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

How many countries were involved in the Kyoto Protocol Voluntary Treaty

Options :

=
552131555009. 1=



55213155510, 153

55213155511. 141

552131555712, 108

Question Number : 79 Question Id : 55213114138 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion (A): Presence of water vapor and carbon dioxide i the atmosphere allows the Earth
to maintain an average temperature of approximately 15 °C

Reason (R): With the mdustrial revolution COxcontent of atmosphere began to rise which
lead to more greenhouse effect.

Codes:

Options :

Both (A) and (R) are correct, and (R) 1s the correct explanation to (A)
55213155513. ;

55213155514, Both (A) and (R) are correct. but (R) 1s not correct explanation to (A)

55213155515, SOt (A) and (R) are wrong

(A) 1s correct and (R) is wrong
55213155516. d =

Question Number : 80 Question Id : 55213114139 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum

Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No



Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Eutrophication in aquatic ecosystem is caused by the excess concentration of which of the
following

Options :

55913155517, Sewage and sludge

55213155518, LCICULY

55213155519, T\ iTates

Chlorides
55213155520.

Question Number : 81 Question Id : 55213114140 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

The ecumene and non-ecumene areas of the earth’s surface is approximately estimated as
Options:

25% and 75%
55213155521, = /0 and 75%

0 0
55213155522, 200 and 50%

410% 094
55213155523, F070 and 60%

60% and 40%
55213155524,



Question Number : 82 Question Id : 55213114141 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Which is the correct mcreasing order of sequence of countries i accordance with

population size?

Options :

- a. All e “3\._ al. c_l.{
55213155525, Sri Lanka. Bangladesh. Nepal. Pakistan

5521315556, Pakistan. Sr1 Lanka. Nepal. Bangladesh

55213155527, Nepal. Bangladesh. Pakistan. Sr1 Lanka

Pakistan. Bangladesh. Sr1 Lanka, Nepal
55213155528. »

Question Number : 83 Question Id : 55213114142 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Who said that population when unchecked. increases in a geometrical ratio. and subsistence
increase only in arithmetical ratio?

Options :

55213155529, Malthus

55213155530, Doubleday

55213155531. W. S. Thompson



W. Notestein
55213155532.

Question Number : 84 Question Id : 55213114143 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The yellow skinned people are

Options :

55213155533, C aucasoid

55213155534, Australoids

Mool
55213155535, fongoloids

55213155536, vordic

Question Number : 85 Question Id : 55213114144 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Demographic structure of a nation 1s brought out clearly by
Options :

55213155537, Dar graph

55213155538, DAl diagram



55213155539. Pictorial method

Age —sex pyvramid
55213155540.

Question Number : 86 Question Id : 55213114145 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Concentric Zone Model studies the land use in a city from the perspective of:

Options :

55213155541 . Distance from the city centre

55213155542. Direction from the city centre

55213155543, Distance and direction from the city centre

55213155544, Small pockets of land use

Question Number : 87 Question Id : 55213114146 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

countries have Primate cities.

Options :

55213155545, Colonial



Large
55213155546. =

55213155547, Developed

Sea side
55213155548.

Question Number : 88 Question Id : 55213114147 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Close spacing of settlements 1s associated with a ------------------ resource.

Options :

55213155549, 200l

Linear
55213155550.

55213155551, © oMWt

55213155550, ©olygonal

Question Number : 89 Question Id : 55213114148 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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According to ===---=====-sseemem- model. locational forces aggregate some functions but scatter
others.

Options :

55213155553, Concentric Zone

55213155554, Vultiple Nuclei

Sector
55213155555,

Berry
55213155556. T

Question Number : 90 Question Id : 55213114149 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Land use patterns vary depending on the local context in ------=-=-==-------- model.

Options:

55213155557, Concentric Zone

55213155558, Multiple Nucle:

55213155559, Sector

55213155560, DSITY

Question Number : 91 Question Id : 55213114150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Climatic considerations are more important in determining the land use pattern in --------- cities.

Options :

55213155561, Drifish

55213155562, - tlierican

Mexican
55213155563.

55213155564, Indian

Question Number : 92 Question Id : 55213114151 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Land Use is ultimately decided by the --------

Options :

55213155565, Covernment

City Planners
55213155566.

55213155567, Land value

Real Estate agents
55213155568. =



Question Number : 93 Question Id : 55213114152 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion(A): Urban Renewal can be a vital tool for alleviating slum conditions and tension and
for stimulating the physical and economic revitalization of the cities

Reason(R): Urban Renewal is limited by the resistance of suburbs to the mtroduction of
families of different race and lower income than the norm of the local community

Codes:
Options :

Both A and R are true. and R 1s the correct explanation
552131555609.

Both A and R are correct. but R is not the correct explanation
55213155570.

55213155571, * 1S true but R is False

55213155572, A 1s False but R 1s true

Question Number : 94 Question Id : 55213114153 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The internal and external geometry of a slum are:
Options :

55213155573, Regular

55213155574, Haphazard



55213155575, - reular

55213155576, L1eAr

Question Number : 95 Question Id : 55213114154 Question Type : MCQ Option Shuffling : Yes
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Very low sex ratio 1s associated with ------------------- towns/ cities.

Options :

55213155577, Old

Metropolitan
55213155578.

Industrial
55213155579.

Large
55213155580.

Question Number : 96 Question Id : 55213114155 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Which one of the following is considered as the catalytic factor in Von Thunen’s Model?

Options :



55213155581, Market

Transport Cost
55213155582.

Urban Centre
55213155583.

Concentric Zones
55213155584,

Question Number : 97 Question Id : 55213114156 Question Type : MCQ Option Shuffling : Yes
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Consider the following statements regarding the Weaver’s method of Crop Combination.

i. He proposed a method of analysis superior to simple inspection of the relative weights of the
enferprises in a given area.

ii. He added a time dimension to the notion that Britain’s best and worst agricultural land has not
changed during the last century.

ii. He sought to find the number of enterprises that minimized the difference between the actual
and theoretical enterprise combinations.

iv. He adopted a measure of yield defined as the potential production of one acre of good average
farmland under good management,

Select the correct answer using the codes below:
Options :

55213155585, - 1 and i

55213155586, 1and v

1 and i
55213155587.



55213155588, - I il and v

Question Number : 98 Question Id : 55213114157 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Assertion (A): The land capability approach 1s that where land was graded according to its
susceptibility to soil erosion under differing farming and forestry systems of production.

Reason (R): The most demanding systems of production would therefore concentrate on the
best land and the most extensive on the poorest.
Codes:
Options:

Both (A) and (R) are true. and (R) is the correct explanation of (A).
55213155589.

55913155590 Both (A) and (R) are true. but (R) is not the correct explanation of (A).

(A) 1s true but (R) 1s false.
55213155591.

55213155592, (A) 1s false but (R) is true.
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Match List I with List IT and select the correct answer:

List-] List-I
Agricultural Systems of the World Characteristics / Regions
l.  Mediterranean Agricultural System  a.  Capital Intensive Farming
2. Livestock Ranching b. Savannah Region
3. Commercial Grazing c. Winters are wet and Summers are dry
4. Dairy Farming d. Temperate and Tropical Grasslands
Codes:
Options :
A 2% 3 4=
55213155503, 170 2°0s 38, 4
-c. 2-a. 3-d. 4-
55213155594, 1 278 3-d, 4D
b 256 A e
55213155595, 10» 2°C; 3-8, 4-d
l-c. 2-d. 3-b. 4-a
55213155596.
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Match List I with List IT and select the correct answer:

List-I List-I
Methods of Measuring Agriculture Productivity Advocates
1. Ranking Coefficient Method a. Jasbir Singh
2. Crop Yield and Concentration Indices b. Kendall
3. Index of Productivity c. L.D.Stamp
4. Carrying capacity of land d. Mohd. Shafi
Codes:

Options :



. 3 4 i -z
55213155597, L¢:2-d: 3-b. 4-a

1-b, 2-a, 3-d. 4-c
55213155598.

55213155599, 1~d- 2-D. 3-¢. 4-a

1-a, 2-c. 3-d. 4-b
55213155600.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

Assertion(A): The location quotient technique has also been applied by the Geographers for
determiming regional character of cropping pattemns,

Reason (R):  The man disadvantage of this technique lies in the fact that if 1s not suitable for the

planners and geographers to understand the areas of specialization of different crops
STOWIL 10 4 region at a given point of time.

Codes:
Options :

55213155601 Both (A) and (R) are true. and (R) 1s the correct explanation of (A).

Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).
55213155602.

(A) 1s true but (R) 1s false.
55213155603.

(A) 1s false but (R) 15 true.
55213155604.



Question Number : 102 Question Id : 55213114161 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Consider the following statements in relation to the Losch’s Theory of Industrial Location.

i, He disregarded spatial variations in production costs by holding them constant.

He treated each function having a separate range. threshold and hexagonal hinterland.
iii. ~His theory 1s also known as “Area-Cost Curve Theory™.
iv. He also used Isocost lines and map which indicate the optimum location.

Select the correct answer using the codes below:

Options :

55213155605, = 1 and

55213155606, 1 and i

iand il
55213155607.

55213155608, » 1 1 a0d iV

Question Number : 103 Question Id : 55213114162 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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If an ndustry has a material index greater than 1. the appropriate location of industry will be:

Options:

Anvwhere between the source of raw material and market.
55213155609. #



55213155610, Near the localized raw material sources.

55213155611, LNear the market

Near the capital.
55213155612.

Question Number : 104 Question Id : 55213114163 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Assertion (A): At present, the Government sector 15 the largest consumer of Information Technology (IT)
services in India.
Reason (R):The Indian companies have outperformed MNCs in the total revenue and even IT export

market share,
Codes:

Options:

Both (A) and (R) are true. and (R) is the correct explanation of (A).
55213155613. : '

Both (A) and (R) are true. but (R) is not the correct explanation of (A).
55213155614.

55213155615. (A) 1s true but (R) is false.

(A) 1s false but (R) is true.
55213155616.
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Who propounded the concept of Isodapane?
Options :

55213155617, > Losch

55213155618, Cluistaller

55213155619, DM Smith

55213155620, ‘v Weber
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“Culture is man’s guide, it liberates as well as enslaves him as all guides do.” Which of the
following school represents this view?

Options :

Diffusionistic School
55213155621.
55213155622, Evolutionary School

55213155623. Marxian School

Culture-personality School
55213155624.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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What proportion of India’s urban population lives in slums?

Options :

55213155625, Around one-fifth

55213155626. Around one-fourth

Around one-third
55213155627.

Around half
55213155628.

Question Number : 108 Question Id : 55213114167 Question Type : MCQ Option Shuffling : Yes
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An area of social living which is marked by some degree of social coherence and similarity is
called

Options :

Social group
55213155629. -

55213155630, SOCIety

Community
55213155631.



55213155632, Association

Question Number : 109 Question Id : 55213114168 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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The task to explain or account for the variation over space of the voting decision lies with

Options :

T1 c o v -
55213155633, ©10an geography

Cultural geography
55213155634. Rrvs =

55213155635, Political geography

Physical geography
55213155636. -

Question Number : 110 Question Id : 55213114169 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Which state amongst the following has the highest percentage of the Scheduled Caste

population of the State’s population?

Options :

Jharkhand
55213155637.



Madhya Pradesh
55213155638.

55213155639, £ uwab

Uttar Pradesh
55213155640.

Question Number : 111 Question Id : 55213114170 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
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Large part of the non-ecumene has remained sparsely populated because of.

Options:

55213155641 natural environment being inhospitable

restriction on large scale in-migration
55213155642, . BERS &

55213155643 limited and unknown resources

limited development vis-a-vis infrastructure
55213155644.

Question Number : 112 Question Id : 55213114171 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Which of the following criteria 1s NOT used for the classification of human races?




Options :
55213155645, LVES

55213155646, £ar

55213155647, \OS€

55213155648, Al

Question Number : 113 Question Id : 55213114172 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Capitalism 1s based upon ‘Laissez-faire system’. What 1s “Laissez-faire system™?

Options :

55213155649, NO governmental intervention

Maximum goveriunental intervention
55213155650.

Role of market forces 1s minimum
55213155651.

Limited government intervention
55213155652.
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Correct Marks : 2 Wrong Marks : 0

In developing countries. the population pressure increases in some parts due immigration.
Such parts are characterized by

Options :
55213155653. Low cost of living

55213155654, More suitable climate

5513155655, Large employment opportunities

Accessibility
55213155656. i
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The Lapps live in which of the following regions?
Options :

55213155657, Oreenland

Northern Canada
55213155658.

55213155659, Finland

The Northern part of Scandinavia and European Russia
55213155660.

Question Number : 116 Question Id : 55213114175 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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*(Ges-Periods”- Description of the earth 1s a monumental work on Geography by

Options :

55213155661. Eratosthenes

55213155662, LY

55213155663, S1aP0

55213155664, Liccatasus
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Who said “Man is the product of the earth’s surface”

Options :

55213155665, Iicier

Allen C. Semple
55213155666.

55913155667, Lucien Febvre

Huntigton
55213155668.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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*Cities in Evolution™ is written by

Options :

B.J1 1. Bemy
552131556609.

goet

i)
=]

Ha
55213155670.

Patrick Geddes
55213155671.

Lewis Mumford
55213155672.
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Who of the following drew the map of the world for the first time on true scale?

Options :

Anaximander
55213155673.

55213155674, Hecataeous

Eratosthenes
55213155675.



55213155676 Posidonious
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Correct Marks : 2 Wrong Marks : 0

Which of the following famous Arab geographer gave a detailed description about Monsoon
for the first time?
Options:

Al-Maqdisi
55213155677.

55213155678. Al-Masudi

55213155679, 1 Balkh

55213155680. Ibn-Khaldun
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Which of the following gave the concept of “Unity in Diversity” and credited to have founded

the “Berlin Geographical Society™?

Options :

55213155681, ©arl Ritter



Alexander Von Humboldt
55213155682.

Alfred Hettner
55213155683.

Otto Schluter
55213155684,

Question Number : 122 Question Id : 55213114181 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a contributor of Possibilism?

Options :

55213155685, Catl O Sauer

55213155686, Ellsworth Huntington

Vidal de 1a Blache
55213155687.

Jean Brunhes
55213155688.
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K.R. Cox and Tobbler belong to which of the following school of thought?

Options :

Humanism
55213155689.

Behaviorism
55213155690.

55213155691 Quantitative revolution

55213155692, Positivism
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Match the following

Book Authors
1. Nature of Geography a. YiFuTuan
2. Explanations in Geography b. Hartshone
3. Space and Place in Human Geography c¢. Hettner
4.  Foundation of Regional Geography d. Dawvid Harvey
Codes:
Options :
2l Y A
55213155603, 1 0- 2°d. 3-a. 4-c
55213155694, 1-a. 2-d. 3-c. 4-b

R B A
55213155695, 10 2-d. 3-c. 4-a



1-a. 2-d. 3-b. 4-c
55213155696.
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Which of the following founded the journal called “Annals de Geographie.”

Options:

55213155697, Llise Reclus

55213155698, Vidal de la Blache

55213155699. Demangeon

Jean Brunhes
55213155700.
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'Locational Analysis in Human Geography' was penned by

Options :

55213155701, LLartshone

Peter Hagget
55213155702. =



Brian Berrv
55213155703. 5

Huntington
55213155704.
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Match the Following:

LIST I LIST 11
1. Post Modernism a. Theme based
2. Quantification b. Circular and Cumulative causation
3. Adaptive system ¢. Empirical study
4. Systematic Approach  d. Particularity
Codes:
Options :
ie 2ad. 3w A=
55213155705, 176 27d, 3-3, 4-
P =
55213155706, 1"9-2C,3-b, 4-a
-b, 2-a, 3-c. 4-
55213155707, 170» 272 3-¢. 4-d
1-c. 2-b. 3-d. 4-a
55213155708.

Question Number : 128 Question Id : 55213114187 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum



Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0
Prediction is a characteristic feature of ------------------ systems.
Options :

Homeostatic

55213155709.

55213155710. Dynamic

Controlled
55213155711.

Adaptive
55213155712.
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
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Indica was penned by
Options :

Megasthenese
55213155713.

55213155714, Deimakos

55213155715, Timosthenes

Agatharchides
55213155716.
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The Precession of Equinoxes was described by

Options :

Eratosthenese
55213155717.

Hipparchus
55213155718.

Posidonius
55213155719.

Pytheas
55213155720.
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The digital image process, which involves algorithms that examine the unknown pixels in the
image and aggregate them into a number of classes based on the natural groupings or cluster
present in the image is known as:

Options :

Spectral enhancement technique
55213155721.

55213155722, Supervised classification technique



Unsupervised classification technique
55213155723.

Image transformation technique
55213155724.
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Which of the following statements are not true:

Options :

££913155795. Mean > median > mode implies a positively skewed distribution.

Mean< median < mode implies a negatively skewed distribution.
55213155726.

Mode > Median > mean implies a positively skewed distribution
55213155727.

Mean = median = mode 1mplies a positively skewed distribution.
55213155728.
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"Chi square test" measures:
Options :

Mean deviation
55213155729.



Goodness of fit
55213155730.

Trend
55213155731.

Variations
55213155732.
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Which of the element for image interpretation is most appropriate for identifying tall buildings

and electric poles in an aerial photograph?

Options:

55213155733, SIZ°

Shape
55213155734.

55213155735. Shadow

Texture
55213155736.
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Correct Marks : 2 Wrong Marks : 0

Which of the Following spatial analysis in GIS effectively detects the changes i land
use/land cover:

Options:

cc1315573, ProXimity Analysis

Network Analysis
55213155738.

Buffer Analysis
552131557309.

Overlay Analysis
55213155740.
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Which of the following statements are true:

1. The correlation coefficient 15 dependent on the choice of both origin and scale of
observations

1. The correlation coefficient is dependent on the units of measurements,

i, The coefficient of correlation 1s the multiple of the coefficient of determination

iv. The “0" value of correlation coefficient cannot estimate the value of dependent variable.

Options:
Options :
55213155741, 118 Hue
11s true
55213155742,
11 15 true

55213155743.



55213155744, v 15 U
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Which of the following is a mathematical curve that shows a visual extent of departure for any

given distribution

Options:

55213155745, -oZistic curve

55213155746, LESS than ogive curve

55213155747, Greater than ogive curve

Lorenz curve
55213155748.
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The method used to show the proportion of surface area representing elevation above or
below datum.

Options :
55213155749, Altimetric curve



55213155750, LLypsomeiric curve

55213155751, Fluviometric curve

55213155752, Morphometric curve

Question Number : 139 Question Id : 55213114198 Question Type : MCQ Option Shuffling : Yes
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The resolution which 1s related to sensitivity of remote sensing detector to record differences

i portions of the electro-magnetic spectrum 1s known as:

Options :

Spatial resolution
55213155753.

Spectral resolution
55213155754.

Radiometric resolution
55213155755.

Temporal resolution
55213155756.
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Assertion (A): Blue sky 1s the result of scatterng of EMR
Reason (R): Atmospheric constituents smaller than EMR wavelength result in scattering of
shorter vistble wavelength.
Options:

55913155757, Both the statements are true. and R 1s the correct explanation of A.

55213155758, Both the statements are true. but R is not the correct explanation of A.

55213155759, Only statement A is true and statement R is false

Only statement R is true and statement A 1s false
55213155760. C
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Match the following

LIST I LIST II
1. Mundas a. Arunachal Pradesh
2. Chechu b. Tamilnadu
3. Todas ¢. Andhra Pradesh
4. Mishnus d. Jharkhand
Options:
~ Y P g
55213155761, ¢ 2. 3-d. 4-a
s = TR IR
55213155762, |7 27d- 3-a. 4-b

S W O
55213155763, 1 - 27¢. 3-b. 4-a



1-d. 2-b, 3-a. 4-c
55213155764,
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Chakma Tribe belong to which of the following states
Options :

Arunachal Pradesh
55213155765.

55213155766, 11PUIa

55213155767, Nagaland

Mizoram
55213155768.

Question Number : 143 Question Id : 55213114202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0



Arrange the following from earliest to later chronology
i. Dharwar
ii. Vindhyan
iti. Gondwana
iv. Tertiary
Codes:

Options :

55213155769, V- 111 1. 11

55213155770.

55213155771, b 1L ML 1TV

55213155772, = V.1

Question Number : 144 Question Id : 55213114203 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following ranges of Himalaya is believed to be of the most recent origin?
Options :

55213155773, Shiwalik

55213155774, Creater Himalaya

55213155775, Trans Himalaya

Middle Himalava
55213155776.



Question Number : 145 Question Id : 55213114204 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the Following

Passes States
1. Burzil a. Himachal Pradesh
2. Thagla b.  Jammu and Kashmir
3. Baralachala c. Sikkim
4. Jelep La d. Uttarakhand
Codes:
Options :
55213155777, 170 2-d. 3-a. 4-c
o g
55213155778, | 70- 2-d. 3-¢. 4-a
R s g X
55213155779, 1 0-2¢. 3-d. 4-a
o e 0 S
55213155780, L ¢ 2d- 3. 4-a

Question Number : 146 Question Id : 55213114205 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following rivers flows through a rift valley?

Options :



Ganega
55213155781. =

55213155782, LW

Chambal
55213155783.

Son
55213155784.

Question Number : 147 Question Id : 55213114206 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 2 Wrong Marks : 0

In which part of India the Dandakaranya 1s situated?

Options :

55713155785, Castern

55213155786, - cntral

55213155787, " cSiein

Southem
55213155788.

Question Number : 148 Question Id : 55213114207 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes



Correct Marks : 2 Wrong Marks : 0

Initially the Central Pollution Control Board has been established under which of the
following act?

Options :

55213155789, <M Act (1981)

Environment Protection Act (1986)
55213155790.

55213155791, Water Act (1974)

National Green Tribunal act (2010)
55213155792.

Question Number : 149 Question Id : 55213114208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Which of the following states has the tertiary coal deposits?

Options :

55213155793, Jharkhand

55213155794, Tamilnadu

55213155795, Meghalaya

Madhya Pradesh
55213155796.



Question Number : 150 Question Id : 55213114209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : 0 Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 2 Wrong Marks : 0

Match the following.

Minerals Places
1. Iron Ore a. Koraput
2. Bauxite b. Khetri
3. Coal ¢. Bailadila
4. Copper d. Singrauli
Codes:
Options :
I B o
55213155797, 1°C27a. 3-d. 4-b
ol R e
55213155798, ¢ 27a. 3-b. 4-d
W St o I
55213155799, L[~ 2-¢.3-d. 4-b

l-¢c. 2-d. 3-a. 4-b
55213155800.



